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L.

Direction : Answer the following questions by selecting the most appropriate option.

To cooperate the adolescent it is
essential to

(1) Inspire

(2) Indicate his mistakes

(3) Criticise him

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement about emotions of an
adolescent ?
(1) Emotional expressions are

modified by learning.
(2)
(3

Emotions are permanent.

Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external
stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in

different classroom.

(3) Meeting individual differences in

special schools.

(4)

Meeting individual differences in
home based instruction.

P.T. O.
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively
inculcated among the students when
teacher

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,

evaluation and inference.

(3) creating and constructing

something.

(4) thinking about ways of reacting.

Best method of dealing with adolescent

by parents and teachers is
(1) Autocratic (2) Permissive

(3) Democratic (4) Restrictive

Which of the following is not a
characteristic of social development in
adolescence ?

(1) Active member of their peer

group
(2) Being an attraction towards
opposite sex
(3) High  decrease in  friendly
relationship

(4) Extension of special interests
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An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing  without committing
mistakes

(3) Listening message properly

(4)

Doing mathematical calculations

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the

matter.

subject-

(4) Completion of content.

P.T.O.
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Differentiation of emotions takes

place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence

(4) During adulthood

Which of the following provision is

not suitable to meet individual

differences among learners ?
(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.

Working with
particularly maladjusted one, which is

adolescents,

not appropriate ?

(1) Critical approach
(2) Democratic approach
(3) Collective approach

(4) Ideal approach
Heredity plays most important role in
the

(1) Emotional development of the
child

(2) Social development of the child
(3) Physical development of the child

(4) Cultural development of the child
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The knowledge of principles of

learning is must for a good teacher,
because

(1) It helps in maintaining discipline.

(2) It
interesting.

(3) It helps to understand the content
by simple methods.

helps to make content

(4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity

(3) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students design experiments,
draws conclusions and compare
their findings.

(2) Knowledge is objective, universal
and complete.

(3) Teacher transmits authoritative
knowledge to students.

(4) Students look for
answer.

the 'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P20
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According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that
directs

behaviour is called as
(1) Interest

(3) Attitude

arouses, and maintains

(2) Opinion

(4) Motivation
Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific
(4) Cephalo Caudal

principle of
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A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks, This is

(1) Intrinsic motivation

(2) Extrinsic motivation

(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not

correct about learner centred approach ?

(1) It takes into account learner's
capabilities, and
learning styles.

capacities

importance of
and

It stresses the
enquiry,

investigation.
3) It emphasises
knowledge to the learner by the

@

observation

transmitting

teacher.

(4) It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'l do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/166
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(13)

57. Tad g5 frad &
() BEE gRE &
(i) WEEE "9RE %
(iti) a7 TR F
(iv) gfte fawaes qieweaar &
e IR faehed @ giee
(1) () @ (@)
(2) (i) T (iv)
(3) @ad (iii)
(4) Fad (ii)

S ¢ S L
(1) A (2) g
(3) FO A (4) G0

58.

foysatyyor & e @
(1) areXd

2) foeng

(3) A=Al

(4) Hiedr Hed

59.

A=A AT aifes e §
(1) sy

(2) XU F SFERA

(3) ST N HIR H @I HAT
(4) =T AR o

60.

Level-3/166
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(14)

HIT - III/PART - 11T

TS - 11 (S{ISHT)/LANGUAGE - 1T (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is

given :

(1) ous
(2) some
(3) ose
(4) ful

Level-3/166

64.

65.

66.

‘I don't enjoy going to the dentist.

The word 'going' in the above

sentence is a/an

(lj P?esent participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :

Mother said, "Don't go to the park."
(1) Mother asked us not to go to the
park.

Mother told us ndt to go to the
park.

(3) Mother said us not to go to the
park.

(4)

Mother said to us to not to go to

the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.

http://haryanatet.com

Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-
spelt?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/166

(15)

A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70. (1) My brother is the student in
Mayo College.

(2) My brother is student of Mayo
College.

(3) My brother is a student in the
Mayo College.

(4) My brother is a student in Mayo
College.
71. (1) Neither of them were present

there.

(2) Neither of them was present

there.
(3) Neither of them present there.
(4) Neither of them are present
there.
72. (1) The roses smell swee.t.
(2) The roses smell sweetly.
(3) The roses are smelling sweetly.

(4) The roses are sweetly smelling.

P.T.O.
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A (16)

73. (1) You certainly did not ought to do 76 Choose the correct direct speech of
it. : the given reported speech :
He said I'd better go because it was late.

(2) You certainly ought not to have
(1) He said, "You'd better go because

done it.
it's late."
(3) You certainly did not ought to (2) He said, "I'd better go because it
have done it. was late."

_ (3) He said, "You'd better be gone
(4) You certainly ought not to have )
. because it was late."
been done it.

(4) He said, "You'd better go because

it L
74. (1) Who was the book given to ? it was late

o T e — 77. Which of the following is spelt

correctly ?
(3) The book was given to who ? (1) Pediatrician

(2) Padritician
(4) Whom was the book given to ?
(3) Pedaitrician

75. Choose the correct phonetic (4) Pidiatrician

transcription of the word 'Locate’
78. In which of the following sentences do

we need to insert the definite article

(1) Nuket/
‘the’ ?
(2) Nokeit/ (1). They are all busy growing things.
(2) We do not generally speak of
(3) /lou'keit/ farmers 'growing animals’.
(3) Why do people work ?
(4) Noauket/

(4) They are different from rest.

Level-3/166
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79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, 1 left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/166

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites 1s the wutter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we.do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
is

unbiased freedom of mind which

necessary to its receiving and giving their

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without 1t

(4) Very few have it

P T.0.



82.

83.

84.

85.
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What is not a requisite of common
sense ?

(1) the utter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.

'(2) Common sense requires the

utmost simplicity and sincerity.

(3) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

(4) Common sense destroys the
native simplicity and warps and
trammels the freedom of mind.

Fill in the blank with the most
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the
seven’ .....c.oeveen. .

(1) Notions (2) Sciences

(3) Talents (4) Wits

Which is not a synonym of the word

'pedant' ?

(1) dogmatist
(2) formalist

(3) perfectionist
(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86. ... child should learn to read and

(1) All (2) Every
(3) Whole (4) Both

87. Can | ask your ........... , do you think
TV violence is harmful ?

(1) opinion (2) favour

(3) question (4) advice

88. Where is my wallet ? I left it .............

the kitchen table.
(1) at (2) in
(3) on (4) by

89. Take some medicine and the pain will

€0 irernnnnnn. .
(1) back (2)  off
(3) out (4) away

90. The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/166



http://haryanatet.com

(19)

HIT -IV/PART -1V

i /HISTORY
R : Fefrea 7o % guv &7 kv geg afd Aeey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

FFEAT F TH-T &
(1) g (2) T
(3) &Y (4) ToarEyY

Frefoigd Jarett & § HF CoTderdr
HAEIT & GeNyE 787 o1 7

(1) w=Ifee (2) TfHY
(3) @ (4) E@

gewE T AN FIgEH Uah B 0
A A et i ) G D |

(1) Hfea® (2) WFEEET

(3) gwH (4) GRR

e fA9eE (1905) & 9B @S @ee
& I2E o

(1) T9-gfaE gem e

(2) T9-TE 7 ghg HE
(3) M ¥ AT H FIA HAT

(4) TSR giora &

99 4 wdwem e #oEs § AW
s § o ?

(1) 250-300 30
(2) 100-150 2o
(3) 300-350 Zo
(4) 350-400 o

Level-3/166

91,

92.

93.

94,

95.

The birth place of Akbar is
(1) Kabul (2) Amarkot

(3) Kalanoor (4) Gurudaspur

Who among the following leaders was

not founder of ‘Non Aligned
Movement’ ?

(1) Stalin (2) Nasir

(3) Tito (4) Nehru
Muhammad Ghori designated
Qutubuddin Aibak as

(1) Malik (2) Lakhbaksha

(3) Sultan (4) Subedar

Lord Curzon's objective behind

partition of Bengal (1905) was
(1)

To provide representation to the

people
To increase state revenue

(2)
3)

To weaken the nationalism in
Bengal

(4)

To create employment

In which period the paper came into
existence first time in China ?

(1) 250-300 AD
(2) 100-150 AD
(3) 300-350 AD
(4) 350-400 AD

P.T.O.
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96. fr=iffad & & #-01 @ TH @&

gaferd & ? _

(1) & : AT

(2) JE9YT H Yl : Fheh
(3) e SRRE : oIS
(4) farrpre ot @ @aw

97. 6 H F IUAGHA &

() 5 T TR
@ T6 fTA
(3) & Mie= fie
(4) T& 3TEed

98. =1 ¥ § FF-A1 edaee anfefas o7y

TER?

(1) evana
(2) STHHY
(3) FHEEH
(4) TGt

99. i adg 7w @8 9™ & a9 ¥

(1) 1612-1642 2o
(2) 1801-1831 %o
(3) 1618-1648 3o
(4) 1790-1820 3o

100. ‘I arEr GEld B
() gEm a (2 feerdem 4
(3) =% A (4) FoEE A

101. FETTR 9Ee @ §ENs o

(1) BRETII 37 g 11

@ el ok gl

(3) A 3T BRI

(4) FYREE AR FHTTI
Level-3/166
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96.

97.

98.

99.

100.

101.

Which one of the following pairs is
correctly matched ?

(1) Sanchi Stupa : Menander

(2) Pagoda at Purushpur : Kanishka
(3) Hathigumpha Inscription : Ashoka
(4) Shinkot Inscription : Kharavela

The successor of Guru Nanak was
(1) Guru Teg Bahadur

(2) Guru Arjundev

(3) Guru Govind Singh

(4) Guru Angaddev

Which amongst the following is not a
literary text of Harsha period ?

(1) Harshacharita

(2) Amarkosh

(3) Kadambari

(4) Ratnavali

The thirty years war was fought
between the years

(1) 1612-1642 AD
(2) 1801-1831 AD
(3) 1618-1648 AD
(4) 1790-1820 AD

'Ulat Bansi' belongs to
(1) Surdas (2) Biharidas
(3) Chaitanya (4) Kabirdas

The founder of Vijaynagar empire
were

(1) Harihar IT and Bukka I

(2) Harihar I and Bukka I

(3) Devray I and Harihar IT

(4) Krishnadevray and Achutroy



http://haryanatet.com

(21) | A
102. 9@ fasE & Jar @ 102. The leader of Santhal revolt was
(1) foiyg (1) Sindhu
(2) foRan goer (2) Birsa Munda
(3) &g TH (3) Kalu Ram
(4) $H UAE (4) Karam Shah
103. HddES 997 H 999 SEE 91 103. The first king of Satvahana dynasty
was
(1) fogs (1) Simuka
(2) 4t St (2) Shri Shatkarni
(3) ﬂﬂ‘ﬂt (3) Susharma
(4) Fo (4) Krishna
104. Rry & 98 Fq@ @@ A Pl g 104. The Indus settlement in Sind, which
IO % gia q9fdd o was exclusively devoted for handi-
craft production was
(1) He-eeet (1) Mohenjodaro
(2) TAHE (2) Balakot
(3) wgasl (3) Chanhudaro
(4) SaTl (4) Banvali
105. fr=fafad & @ @9 wig o @T;‘f 16d1 &l 105. Which amongst the following was not
for o= 7&f an ? a finance minister of Louis XVI in
France ?
(1) BN (2 0 (1) Kropotkin (2) Turgot
(3) N (4) FFHT (3) Colone (4) Necker
106. Y99 TG TN FrEd mermeiiEaR’ @ 106. The first Gupta king hold the title of
Iy g 'Maharajadhiraj' , was
() T (1) Gupta
(2) TerHd (2) Ghatotkacha
(3) = qIH (3) Chandragupta I
(4) #a (4) Srigupta

Level-3/166 P.T.O.
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111.
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¥ e § o el § e o
frercht @

(1) fafy i et it
(2) TR FEEE @
(3) il awa &l
(4) Az &t

‘FEEE qAT B S o
(1) WHEEA ™
(2) FEEz a9

(3) AT M
(4) SEHMH ige

YRR JEwE HaH A 9ER

(2) 71230 ®
(4) 622%0 &

(1) 61230 &
(3) 66130 ¥
IR BgW ®WX % S[d U ©d & HHIT
Heifa §

(1) FrefEm |

2) ol A

(3) Fredeh A

(4) TOreE |

URMNE Aegdra § (e, e’ O
BOR :

(1) GaemE 9T

(2) wifelas® amefaen o

(3) 7O T

(4) fEfeear fRsm ov

Level-3/166

107.

108.

109.

110.

111.

The seals found at Indus sites inform
us about

(1) Script and Religion

(2) Town Planning

(3) Drainage System

(4) Literature

The founder of "Tatvabodhini Sabha',
was

(1) Rammohan Roy

(2) Keshab Chandra Sen

(3) Debendra Nath Tagore

(4) Atmaram Pandurang

Prophet Muhammad arrived Madina
from Macea, in
(1) 612 AD (2) 712AD

(3) 661 AD (4) 622 AD

The evidence of a ploughed field
found at the early Harappan level
belongs to

(1) Kalibangan

(2) Amari

(3) Kotdeeji

(4) Ganeshwar

‘Leelawati’, written in Early Medieval
period is a book on

(1) Astronomy

(2) Literary Criticism

(3) Mathematics

(4) Medical Science
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114,

115.

116.
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Frfifed & @ #9-41 ga@ dio 2o
HEHT a fofad € 7 A9 fw g et
# I g
0 feg=

(i) feaT I offp RV — 1857
(iii) A% AT

(iv) o T3

L

(1) iTii (2) i,ii U9 iii
(3) ii T iii (4) 1, ii, i1i O iv

qgs T ufk &1 iR g
pifesr Sit=ay o

(1) =™ (2) 3% u=H

(3) 9ETE Blee  (4) IEH o

1857 & fage # U<y REw gt
F A Wear Jar 4 :

(1) 9 AEeH
(2) Zlo 3o &

(3) =go T

(4) St e

(o e A B i e e
% TE e ?
(1) aefarm

(3) gavifii
TR WU FeMR 3 ARG T e e

(2)
(4) ATF

(1) 1556-1605 o T
(2) 1605-1627 o TF
(3) 1658-1707 3o TF
(4) 1530-1556 3o TF

Level-3/166
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112,

113.

114.

115.

116.

A

Which of the following books were
written by V. D. Savarkar ? Choose
the answer from the codes given below
(1) Hindutva

(i1) Indian War of Independence — 1857
(111) Joseph Mezzini

(iv) Prison Life

Codes :
1) 1&1i (2) 1,11 & 1l
(3) 1 & iii (4) 1,11, i1 & iv

The road making process invented by
a Scottish engineer, was

(1) Roahds (2) Mc Adam
(3) Cyrus Field (4) Graham Bell

The conservative leader who described
the revolt of 1857 as ‘National Revolt’,
was

(1) James Outrem
(2) T. R. Holmes
(38) W. Taylor

(4) Benjamin Disraeli

Which of the following was not the
provincial centre of emperor Ashoka ?

(1) Takshashila(2) Tosali
(3) Suvarnagiri (4) Ashmaka

The Mughal emperor Jahangir ruled
India, during

(1) 1556-1605 AD
(2) 1605-1627 AD
(3) 1658-1707 AD
(4) 1530-1556 AD
P.T.O.
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Ty $ I P R e T A -
TH FOT TET e 7 '

(1) T Yy IR
(2) IUFCN g el B e H GEl
SAREAGI|

(3) W e # et
(4) "R 9 % & 39 &5 § 99

frefafad & @ 59 w9 & Ica= 4
ARG-U9 UK W THS gsal & 7

(1) e
(3) TIAY

(2) et

(4) Mg

AR N wWAAT B VS A ARl
TS F

(1) 1887%0 #
(3) 1781%0 #

IAHH 9RG & o9 o AR & 9
aftey ameey § afefed o '

(2) 177630 #
(4) 1778 %0 H

(1) &, AFY G, TS

(2) FAleH, dicH, Ter
(3) HENIsE, S Wael, eI

(4) uifsad, FE, Jene

1886 U9 1893 H U AIRAIA U Hidd
AR & eIy T©

(1) s=go Hio il
(2 RS e Aedr
(3) faferaw s
(4) STETIRE AN
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(24)

117,

118.

119.

120.

121.

Which amongst the following is not
one of the factor for the rise of
Magadha ?

1)
(2)

Huge agricultural production
Iron mines accessible for tools
and weapons

Large number of elephants

The birth
Buddha in the region

3)
)

of Mahaveer and

Excavation at which of the following
sites brought to light evidence of
Indo-Roman trade ?

(1) Kaushambi (2) Nalanda
(3) Sarnath (4) Arikamedu

England recognised American

Independence in
(1) 1887 AD
(3) 1781 AD

(2) 1776 AD
(4) 1778 AD

The present Indian States included in
the ancient Tamilkam Kingdom of
South, are

(1) Kerala, Andhra Pradesh, Tamil
Nadu

Karnataka, Sri Lanka, Maharashtra

Maharashtra, Andhra Pradesh,
Gujarat

Pondicherry, Kerala, Maharashtra

(2)
(3)

(4)
The President of 1886 and 1893 Sessions
of the Indian National Congress was

(1) W. C. Banerjee

(2) Feroz Shah Mehta

(8) William Wederbern

(4) Dadabhai Naoroji
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(25) A
122. FAleH A Elﬁfﬁﬂ 3R f‘lﬁlﬂ;ﬂg T qedl 122. The period of the rise of Chalukyas in
% 329 H P o1 Karnataka and Pallavas in Tamil
Nadu, was
(1) 500-600 3o (1) 500-600 AD
(2) 375-4153%0 (2) 375-415 AD
(3) 606-647 3o (3) 606-647 AD
(4) 712-900 %o (4) 712-900 AD
123. fy=foifad & @ $A-Ar Uh 9% 123. Which of the following rulers is
‘SfEEEE’ & A W ST S B 7 known as 'Amitraghata’ ?
(1) T (1) Samudragupta
@) F=h (2) Kanishka
(3) fargar (3) Bindusar
(4) ==T< o (4) Chandragupta Maurya
124, FEY G ‘SHF-U-HaT & RgaE & 124. Akbar awarded the title 'Zareen-i-
™ Qalam' to
(1) Je=% gae &l (1) Muhammad Hussain
(2) AT FHI (2) Todar Mal
(3) =W HeX A (3) Abdul Quadir
(4) ETE WH FH (4) Sadullah Khan
125. f=fafag & @ =9 3 Gﬂﬂﬁ?ﬁzﬂ‘ﬂ E) 125. Who amongst the following is
g f5y far sar ® ° credited for the modernisation of
% Russia ?
(1) 9T § I @t (1) Peter the Great
(2) FAFAUSTI B (2) Alexander I
(3) ITAFAUST 11 (3) Alexander II
(4) " § I R (4) Charles the Great
126. fFr=ifofad & § @@ &9 gf @ 126. Which amongst the following is not a
e Fe e ? theory of Jainism ?
(1) H?ﬂﬁq'ﬂ'ﬂﬁﬁ (1) Pratityasamutpad
(2) WG AR =T (2) Jiva and Ajiva
(3) A (3) Syadvada
@ B ‘ (4) Triratna

Level-3/166 P.T.O,
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129,

130.

131,
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g=go Hio dEal & Mol ARHT BT
FA T o

(1) 9q iz
(2) TEAET IS

(3) HNAFHIE
(4) He-aTE e

‘TeEd-I-a9E’ § AR B
(1) ST ST 9T F U
@) 29 F ot

(3) ST&aT § wHar

(4) IER (5%)

Werdsd Gy gdr & 9y 5 T

(1) @3 Il B
(2) @ e gm
(3) 1 af<% am
(4) @2 SffEdve &

IEA-T-STEY & oEd
(1) ST Hofet

(2) SR ga

(3) T AT

(4) &g

e Wl EW ger: T A A e
qreft &g ot

(1) @t

(@) e

(3) =&

(4) HH

Level-3/166
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127,

128.

129.

130.

131.

W. C. Wyllie was shot dead by

(1) Bhagat Singh

(2) Chandra Shekhar Azad
(3) Ashfaqullah

(4) Madan Lal Dhingra

'Vahadat-ul-Vajood' means
(1) Unity of Soul and God
(2) Blessing of God
(3) Unity in Diversity
(4) Right (Haq)
Subsidiary Alliance
initiated by

(1) Lord Wellesley

(2) Lord Hastings

System was

(3) Lord Bentinck
(4) Lord Auckland

The author of 'Ain-e-Akbari' was
(1) Abul Fazal

(2) Amir Khusrau

(3) Abdul Quadir

(4) Badauni

The metal mainly used by the people
of Indus was

(1) Gold
(2) Iron
(3) Silver
(4) Bronze
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&<
(1) 1,1, ivdv

(2) i, ii, iii  iv

(4) 1,1, i, ivdv

ol & faes omEr @
grem f&g i 2y, Famw o

9T H

(1) 9=gT Fr
(3) HITH H

(2) EEr =
(4) ST FH
1 & @ 991 98 3 7@ E S
Bl WA S0 Yo & WRGY fEE

@R FA B TF HEE
UReaH s & 2 7

(1) "R T R TR #1329

(2) I8 @R B Fod YA &I 9T &
(3) & a1 fwior & fawr @ qafar @

(4) T& T SFETU G 4 @
Bl T AT Jo AT gaT o

(1) vz ¥ (2) @R §
(3) Wg i (4) o o
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132.

133.

134.

135.

A

Who among the following saints of
the Saguna school were devotees of
Krishna ? Choose the answer from
the codes given below

(1) Surdas

(1) Tulsidas

(i1i) Chaitanya
(1v) Mirabai

(v) Shankaradas
Codes :

(1) i, 1, ivand v
(2) 1,11, 111 and iv

(4) 1,11, 1ii, ivand v

Hemu, the Hindu general, who led
the Afghan against the Mughals, was
the native of
(1) Panipat
(3) Kalka

(2) Rewari
(4) Ambala

Which among the following is not the
reason to accept that Mahajanpada
period was an important turning
point in the history of India in the
6th century BC ?

(1) The growth of early states and

cities

(2) It indicates growing use of iron

(3) It indicates development of
coinage _

(4) It informs about the Greek
invasions

The factory system was introduced first at
(1) Holland (2) America
(3) France (4) England

P O
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(2) A-(Gi), B-(ii), C-@iv), D-(i)
(3) A-(@ii1), B-@v), C-(3), D-(i1)
(4) A-(iv), B-(i1), C-(ii), D-(1)
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(1) arpd (2) T
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(1) P
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Match the following and choose the

answer from the codes given below :
A. Slave dynasty (i) Kaikubad
B. Khilji dynasty (i) Nasiruddin Khusrau
C. Tughlaq dynasty (iii) Mahmood II

D. Syed dynasty (iv) Alauddin Alamshah
Codes :

(1) A-(@1), B-(ii), C-(ii1), D-(iv)

(2) A-(i1), B-(i1), C-@(v), D-(i)

(3) A-(ii1), B-@v), C-(1), D-(i1)

(4) A-(iv), B-(11), C-(iii), D-(1)

The of the
Prashasti’ of Harishena, is

(1) Prakrit (2) Pali
(3) Tamil (4) Sanskrit

language ‘Prayag

The Fort built by English Company
at Calcutta is known as

(1) Fort William
(2) Fort Saint George
(3) White Town
(4) English Fort

The Roman Empire was founded in
27 B. C. by

(1) Constantine
(2) Diocleshean
(3) Augustus
(4) Justinean

The gold coins of first century AD,
identical to Romans were issued by

(1) Kushanas (2) Mauryas
(3) Shungas (4) Shakas



141.

142.

143.

144.

145.

146.

http://haryanatet.com

I | wid gy oS awd 4
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2 I
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T4

(1) 186830 H
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(2) 189430 ¥
(4) 1853%0 ¥
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The first English Colony founded in
America, was

(1) New Jersey
(2) Georgia

(3) James Town
(4) Merryland

The epic 'Gilgamesh' belongs to the
ancient civilization of

(1) Egypt
(2) Indus
(3) Mesopotamia
(4) China

Japan's Fukuzava Yukichi was an
(1) Intellectual

(2) Engineer

(3) Inventor

(4) Economist

The Mughal emperors' court language
was

(1) Urdu

(3) Persian

(2) Turkish
(4) Arabic

The head of the traders in the Gupta
period was called

(1) Samaharta
(2) Shresthi
(3) Kulika
(4) Sarthvaha

The Meiji Rule reestablished in
Japan, in the year

(1) 1868 AD (2) 1894 AD

(3) 1813 AD (4) 1853 AD

P.T.0.
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147.
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149.

150.

Consider List -1 & List - I1 :

List -1 List - 11
(1) Sutudru -  Sutlej
(i) Vipas —  Chenab
(ii1) Parushni -  Rawi
(iv) Asikni —  Beas -
(v) Vitasta —  Jhelum

Which of the above are correctly
matched ? Choose the answer from
the codes given below

Codes :

(1)
(2)
(3)
(4)

1, 11 and 1ii
1, 111 and v

11, iv and v

The place of present Uzbekistan,
where Alberuni was educated

(1) Samarkand

(2) Khwarizm

(3) Khiva

(4) Bakh

The Second International was
founded in

(1) 1789 AD  (2) 1775 AD

(3) 1889 AD  (4) 1801 AD

The country, where the stone

inscription of emperor Ashoka is found
(1) Sri Lanka

(2) China

(3) Afghanistan

(4) dJapan

Level-3/166
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Answers to questions in answer sheetare to be given
by darkening complete circle using Black/Blue ball point
pen as shown below : '

O e O &

The answer will be treated wrong, if it is marked, as
given below :

o ® © &

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board:

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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